Math 4650 Topic 3 - Infinite Series

```
Def: Suppose we have a sequence (an) =1
and we want to make an infinite series
out of it.
We define the partial sums by
      S_k = \alpha_1 + \alpha_2 + \alpha_3 + \dots + \alpha_k
 for kol.
That is,
   S_1 = \alpha_1
    S_2 = \alpha_1 + \alpha_2
     S_3 = \alpha_1 + \alpha_2 + \alpha_3
     Sy = a1 + a2 + a3 + a4
 If lim Sk exists and equals L, then
    k \to \infty  \sum_{n=1}^{\infty} a_n = 1  \sum_{n=1}^{\infty} a_n = 1
     and that \( \frac{\pi}{n} = \lambda_n = \lambda.
 If lim Sk does not exist then we say
    that san diverges.
```

Note: The series can start at other numbers other that h=1, such as $\sum_{n=3}^{\infty} a_n = a_3 + a_4 + a_5 + \cdots$

In that case just the starting point of S_K . For example, for above we could do $S_3 = \alpha_3, S_4 = \alpha_3 + \alpha_4, S_5 = \alpha_3 + \alpha_4 + \alpha_5, ...$

Ex: Consider
$$\sum_{n=0}^{\infty} (\frac{1}{2})^n = 1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \cdots$$

Let's calculate some partial sums.

It seems
+hat
lim Sk=2
k+100
so,

 $\sum_{n=1}^{\infty} \left(\frac{1}{2}\right)^n = 2$

We will see why this is true, but we will look at $\sum_{n=0}^{\infty} r^n$ We will need this result about requences.

Theorem: Let rER.

If Irl<1, then lim r=0.

Prof: HW 3.



Ex: (Geometric series)

We are interested in the series

$$\sum_{n=0}^{\infty} r^n = 1 + r^2 + r^3 + \cdots$$

Note there is some ambiguity in the notation when $r=0$. What is 0° ?

Notation when $r=0$. What is defined

Note there is some ambiguity in the When r=0 the sum above is defined to be $\sum_{n=0}^{\infty} 0^n = 1 + 0 + 0^2 + 0^3 + \cdots$ Let's how assume that Ir/<1. We want to look at the partial sums Sk. Note that $S^{k}(1-L) = (1+L+L+\dots+L_{k})(1-L)$ $= |-c^{k+1}|$

Thus, $S_k = \frac{1 - r^{k+1}}{1 - r}$

Thus, if
$$|\Gamma| < 1$$
 then

$$\lim_{k \to \infty} S_k = \lim_{k \to \infty} \frac{1 - \Gamma}{1 - \Gamma} = \frac{1 - O}{1 - \Gamma} = \frac{1}{1 - \Gamma}$$

$$\sum_{\nu=0}^{\infty} L_{\nu} = \frac{1-L}{1}$$

Ex:
$$\sum_{n=0}^{\infty} \left(\frac{1}{2}\right)^n = \frac{1}{1-\frac{1}{2}} = \frac{1}{(\frac{1}{2})} = 2$$

$$\sum_{n=1}^{\infty} \frac{1}{n(n+1)} = \frac{1}{1\cdot 2} + \frac{1}{2\cdot 3} + \frac{1}{3\cdot 4} + \frac{1}{4\cdot 5} + \cdots$$

We can use partial fractions to get
$$\frac{1}{n(n+1)+Bn} = \frac{1}{n-1} = \frac{A}{n+1} + \frac{B}{n+1}$$

$$\frac{1}{n=-1} = \frac{A}{n+1} + \frac{B}{n+1}$$

$$\frac{1}{n=-1} = \frac{A}{n+1} + \frac{B}{n+1}$$

$$\frac{1}{n(n+1)} = \frac{1}{n} - \frac{1}{n+1}$$

$$\frac{1}{n=0} = \frac{1}{1=A(n+1)+Bn}$$

$$\frac{1}{n=0} = \frac{1}{1=A(n+1)+Bn}$$

$$1=A$$

$$1=A$$

$$\sum_{N=1}^{N=1} \frac{1}{\nu(\nu+1)} = \sum_{N=1}^{N=1} \left(\frac{1}{\nu} - \frac{1}{\nu+1}\right)$$

and
$$s_1 = \frac{1}{1} - \frac{1}{2} = 1 - \frac{1}{2}$$

$$S_1 = \frac{1}{2}$$
 $S_2 = \left(\frac{1}{1} - \frac{1}{2}\right) + \left(\frac{1}{2} - \frac{1}{3}\right) = \frac{1}{3}$

$$S_2 = (-\frac{1}{2})^4 (2^3)$$

 $S_3 = (-\frac{1}{2})^4 (\frac{1}{2} - \frac{1}{3}) + (\frac{1}{3} - \frac{1}{4}) = 1 - \frac{1}{4}$

In general for
$$k > 1$$
 we get $\frac{proof by induction}{n=1: s_1 = 1 - \frac{1}{1+1}}$

$$S_{k} = \left| -\frac{1}{k+1} \right|$$
Assume $S_{k} = \left| -\frac{1}{k+1} \right|$
Then, $S_{k+1} = S_{k} + \left(\frac{1}{k+1} - \frac{1}{(k+1)+1} \right)$

Assume
$$S_{k} = \left[-\frac{1}{k+1} \right]$$

Then, $S_{k+1} = S_{k} + \left(\frac{1}{k+1} - \frac{1}{(k+1)+1} \right)$
 $= \left(1 - \frac{1}{k+1} \right) + \left(\frac{1}{k+1} - \frac{1}{(k+1)+1} \right)$
 $= \left[-\frac{1}{(k+1)+1} \right]$

Thus, $\lim_{k\to\infty} S_k = |-0| = |$

Therefore, $\sum_{n=1}^{\infty} \frac{1}{n(n+1)} = 1$

This series is called a "Itelescoping series" because of how the terms cancel each other out in the partial sums.

```
Theurem: (Divergence Test)
If \sum a_n converges, then \lim_{n \to \infty} a_n = 0.
Thus, if lim an #0, then San diverges
```

Suppose San converges to L. Then lim $S_k = L$.

Since

nce

$$\alpha_n = (\alpha_1 + \alpha_2 + \dots + \alpha_n) - (\alpha_1 + \alpha_2 + \dots + \alpha_{n-1})$$

$$= S_n - S_{n-1}$$

lim an = lim Sn - lim Sn-1 = L-L=0 ntm We get that

$$\lim_{n\to\infty}\alpha_n=\lim_{n\to\infty}\alpha_n$$

$$\frac{\sum \sum_{n=1}^{\infty} \frac{n}{n+1} = \frac{1}{2} + \frac{3}{3} + \frac{3}{4} + \frac{4}{5} + \dots}{\lim_{n \to \infty} \frac{n}{n+1} = \lim_{n \to \infty} \frac{1}{1 + \frac{1}{2}} = \frac{1}{1+0}}$$
diverges because $\lim_{n \to \infty} \frac{n}{n+1} = \lim_{n \to \infty} \frac{1}{1+\frac{1}{2}} = 1 \neq 0$

Ex: The harmonic series is the series

$$\sum_{n=1}^{\infty} \frac{1}{n} = 1 + \frac{1}{2} + \frac{1}{3} + \frac{1}{4} + \frac{1}{5} + \frac{1}{6} + \dots$$

Note that $\lim_{n \to \infty} \frac{1}{n} = 0$.

Note that $\lim_{n \to \infty} \frac{1}{n} = 0$.

So we can't use the divergence test.

So we can't use the divergence test.

However, it turns out that this series will diverge.

Let's consider the partial sums

$$S_k = \frac{1}{1} + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{k}$$

The order for $\lim_{k \to \infty} S_k$ to exist we would need that (S_k) is a Cauchy sequence.

We will show this is not the case.

If $m > n$, then

$$|S_m - S_n| = |(\frac{1}{1} + \frac{1}{2} + \dots + \frac{1}{m})| = |\frac{1}{n+1} + \frac{1}{n+2} + \dots + \frac{1}{m}| = \frac{1}{n+1} + \frac{1}{n+2} + \dots + \frac{1}{m}| = \frac{m-n}{m}$$

$$= \frac{m-n}{m}$$

$$= \frac{m-n}{m}$$

$$= \frac{m-n}{m}$$

In particular, if m=2n then $\left| S_{2n} - S_n \right| = \left| 1 - \frac{1}{n} > \frac{1}{2} \right|$ This implies that $(S_k)_{k=1}^{\infty}$ is not Cauchy. If (Sk) was cauchy then there would Why? exist N>0 where if m,n = N, then |Sm-5n/< = But picking n ? N and m = 2n ? N We get $|s_m - s_n| = |s_{2n} - s_n| > \frac{1}{2}$. Thus, (s_k) diverges and so does $\sum_{n=1}^{\infty} \frac{1}{n}$.

Lemma: Suppose (an) is a monotonically increasing sequence. If there exists a subsequence (ank) that is bounded from above, then (an) is a bounded sequence. Proof: We know that $\alpha_1 \leq \alpha_2 \leq \alpha_3 \leq \alpha_4 \leq \dots$ So, (an) is bounded below by a... Suppose there exists a subsequence $\alpha_{n_1} \leq \alpha_{n_2} \leq \alpha_{n_3} \leq \cdots$ that is bounded from about by M, where ni<nz<n3<.... That is, ank < M for all nk. Let an be in the original sequence (an). Pick some Mr. such that ank. is in the subsequence and n< nko. Then, $a_n \leq a_{nk} < M$ Sequence is monotonially increasing

Thus, $a_1 \leq a_n < M$. So, (an) is a bounded sequence.

$$\sum_{n=1}^{\infty} \frac{1}{n^{p}} = \frac{1}{1^{p}} + \frac{1}{2^{p}} + \frac{1}{3^{p}} + \frac{1}{4^{p}} + \cdots$$

converges if p>1.

Proof: Let Sk be the k-th partial sum of the series, that is
$$S_{k} = \frac{1}{1P} + \frac{1}{2P} + \dots + \frac{1}{kP}$$

Then,

$$\frac{1}{1P} < \frac{1}{1P} + \frac{1}{2P} < \frac{1}{1P} + \frac{1}{2P} + \frac{1}{3P} < \frac{1}{1P} + \frac{1}{2P} + \frac{1}{3P} + \frac{1}{4P} < \cdots$$

50,

That is,
$$(S_k)_{k=1}^{\infty}$$
 is a monotonically increasing Sequence.

The plan will be to come up with a subsequence that is bounded from above. Then, by the lemma, $(s_k)_{k=1}^{\infty}$ will be bounded.

Then, by the monontone convergence theorem the sequence (Sh) =, will converge.

Now we construct the subsequence.

First term:

$$k_1 = 2^1 - 1 = 1$$

 $S_{k_1} = S_1 = \frac{1}{19} = 1$.

$$S_{k_2} = S_3 = \frac{1}{10} + \left(\frac{1}{20} + \frac{1}{30}\right) < \frac{1}{10} + \left(\frac{1}{20} + \frac{1}{20}\right)$$

$$=1+\frac{2}{2P}=1+\frac{1}{2P-1}$$

Set
$$k_3 = 2^3 - 1 = 7$$
.

Then,

$$S_{k_3} = S_7 = \frac{1}{1P} + \left(\frac{1}{2P} + \frac{1}{3P}\right) + \left(\frac{1}{4P} + \frac{1}{5P} + \frac{1}{6P} + \frac{1}{4P}\right)$$

$$< 1 + \frac{1}{2P-1} + \frac{1}{4P} + \frac{1}{4P} + \frac{1}{4P} + \frac{1}{4P} + \frac{1}{4P}$$

$$= 1 + \frac{1}{2P-1} + \frac{1}{4P-1}$$

$$= 1 + \frac{1}{2P-1} + \left(\frac{1}{2P-1}\right)^2$$

In general, let
$$k_j = 2^{j-1}$$
.

Let
$$r = \frac{1}{2^{p-1}}$$

Then,

$$S_{kj} = \frac{1}{1P} + \left(\frac{1}{2P} + \frac{1}{3P}\right) + \left(\frac{1}{4P} + \frac{1}{5P} + \dots + \frac{1}{2P}\right)$$

$$+ \cdots + \left(\frac{(z_{2}-z_{2})^{2}}{(z_{2}-z_{2})^{2}} + \cdots + \frac{(z_{2}-z_{2})^{2}}{(z_{2}-z_{2})^{2}} \right)$$

$$< 1 + 2 \cdot (\frac{1}{2^{p}}) + 2^{2} (\frac{1}{(2^{2})^{p}}) + \dots + 2^{j-1} (\frac{1}{(2^{j-1})^{p}})$$

$$2^{5-2^{5-1}} = 1 + \left(\frac{1}{2}\right)^{p-1} + \left(\frac{1}{2^{2}}\right)^{p-1} + \dots + \left(\frac{1}{2^{5-1}}\right)^{p-1}$$

$$= \frac{1-r^{j}}{1-r}$$

$$= \frac{1-r^{j}}{1-r}$$

Thus, we have a bounded subsequence $(S_{kj})_{j=1}^{\infty}$ As described above we get that $\sum_{n=1}^{\infty} \frac{1}{n^p}$ converges.



 $\sum_{n=1}^{\infty} \frac{1}{n^2} = \frac{\pi^2}{6}$ \(\sigma_{n=1}^{\infty} \frac{1}{n^3} \approx 1.2020569... \in \left(\text{Apéry's constant}\right) Note: It can be shown that ≈ 1.0369278... $\sum_{n=1}^{\infty} \frac{1}{n^{4}} = \frac{\pi^{4}}{90}$ $\sum_{n=0}^{\infty} \frac{1}{n^6} = \frac{\pi^6}{945}$

 $\frac{1}{2} = \frac{1}{2(2k)!}$ where B_{2k} is the 2k-th B_{2k} is the 2k-Bernoulli number

(These are values of the zeta function $S(s) = \sum_{n=1}^{\infty} \frac{1}{n^s}$)

Theorem: (Comparison test) Suppose that O ≤ an ≤ bn for all n> K for some fixed K>0. 1) If Zbn converges, then Zan converges. 3 If Zan diverges, then Ebn diverges. Proof: 2) is the contrapositive of (1), so we just nced to prove O. Suppose that Sbn converges. Let (Sk) be the partial sums of Zbn and

(tk) be the partial sums of Ean.

That is, Su=b,+b2+b3+...+bk 大水= a1+a2+a3+···+ ak

Since Ebn Converges we know that (Sk) Converges, so it's a Cauchy sequence.

Then there exists N7K where if m>n>N, then Ism-sn/< E. Therefore if manaN, then $|\pm_m - \pm_n| = |\alpha_1 + \alpha_2 + \cdots + \alpha_m - \alpha_1 - \alpha_2 - \cdots - \alpha_n|$ = | an+1 + an+2+ ... + am | $= \alpha_{n+1} + \alpha_{n+2} + \dots + \alpha_m$ < batit batz + ... + bm = | bn+1+bn+2+...+ bm | $= |b_1 + b_2 + \cdots + b_m - b_1 - b_2 - \cdots - b_n|$

< Σ

Thus, (t_k) is a Cauchy sequence. So, (t_k) converges and so does $\leq a_n$.

= | Sm - Sn |

Ex: Since $0 < \frac{1}{n^2 + n} < \frac{1}{n^2}$ for all $n \in \mathbb{N}$ and $\sum_{n=1}^{\infty} \frac{1}{n^2}$ converges, by the comparison converges. test we get that $\sum_{n=1}^{\infty} \frac{1}{n^2 + n}$ converges.

Ex: (p-series)Suppose $0 .

If <math>n \in \mathbb{N}$, then $n \leq n$.

So, if $n \in \mathbb{N}$, then $\frac{1}{n} \leq \frac{1}{n^p}$.

Thus, since $\sum_{n=1}^{\infty} n$ diverges, by the comparison test we know $\sum_{n=1}^{\infty} n^p$ diverges.

Theorem: (Alternating series test)

Let (an) be a monotonically decreasing sequence of positive real numbers with $\lim_{n\to\infty} a_n = 0$. Then, the alternating series $\sum_{n=1}^{\infty} (-1)^{n+1} a_n = a_1 - a_2 + a_3 - a_4 + a_5 - \dots$

Converges.

Proof: Let (Sk) be the partial sums, that is

$$S_{k} = \alpha_{1} - \alpha_{2} + \alpha_{3} - \alpha_{4} + ... + (-1)^{k+1} \alpha_{k}$$

First we look at the subsequence (S₂k).

Since (\alpha_{n}) is monotonically decreasing

Since (\alpha_{n}) is monotonically decreasing

we know that $\alpha_{n} - \alpha_{n+1} \geqslant 0$ for all $n \geqslant 1$.

So,

 $S_{2k} = (\alpha_{1} - \alpha_{2}) + (\alpha_{3} - \alpha_{4}) + ... + (\alpha_{2k-1} - \alpha_{2k})$
 $< (\alpha_{1} - \alpha_{2}) + (\alpha_{3} - \alpha_{4}) + ... + (\alpha_{2k-1} - \alpha_{2k}) + (\alpha_{2k+1} - \alpha_{2k+2})$
 $= S_{2k}$

So, (Szu) is monotonically increasing.

Also,
$$\Rightarrow 0$$
 $\Rightarrow 0$ $\Rightarrow 0$

Thus, since $(s_{2k})_{k=1}^{\infty}$ is monotonically increasing and bounded from above. By the monotone convergence theosem lim $s_{2k} = L$ for some $L \in \mathbb{R}$.

We now show that lim sk = L.

Let £70Since $\lim_{k \to \infty} s_{2k} = L$ there exists $N_1 > 0$ where if $k > N_1$ then $|s_{2k} - L| < \frac{£}{2}$ if $k > N_1$ then $|s_{2k} - L| < \frac{£}{2}$ Since $\lim_{k \to \infty} \alpha_k = 0$, there exists $N_2 > 0$ where $\lim_{k \to \infty} \alpha_k = 0$, then $|a_{2k+1}| = |a_{2k+1}|$

If $R \ge max \ge N_1, N_2$ then $\left| S_{2k+1} - L \right| = \left| S_{2k} + \alpha_{2k+1} - L \right|$

$$\leq |S_{2R}-L|+|\alpha_{2R+1}|$$

$$< \frac{\varepsilon}{2} + \frac{\varepsilon}{2} = \varepsilon.$$

Thus, for k > max 2N, N2 & we get both | Szk-L/< 2< & and | Szk+1-L/< &

Note that:

R>max{N1,N2} iff

ZK > 2 max{N1,N2}

ZK > 2 max{N1,N2}

Therefore, if 1>2 max {Ni, Nz}+1>2 max {Ni, Nz},
then 1 Se-LI< E.

So, (Sk) K=1 converges to L.



Ex: Since $\lim_{n\to\infty} \frac{1}{n} = 0$ and $0 < \frac{1}{n+1} < \frac{1}{n}$ for all $n \ge 1$ we get that the alternating harmonic series $\frac{2}{n} = \frac{(-1)^{n+1}}{n} = 1 - \frac{1}{2} + \frac{1}{3} - \frac{1}{4} + \frac{1}{5} - \cdots$

Converges.